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'DODP� PHQ\HOHVDLNDQ� 7XJDV� $NKLU� LQL� GDQ� VHODPD� PHQXQWXW� LOPX� GL�

8QLYHUVLWDV� 7HONRP�� SHQXOLV� EDQ\DN� PHQGDSDWNDQ� GXNXQJDQ� GDQ� EDQWXDQ� EHUXSD�

PDWHUL� SHPEHODMDUDQ�� PRWLYVL�� GDQ� ODLQ�ODLQ�� 3DGD� NHVHPSDWDQ� LQL�� SHQXOLV� LQJLQ�

PHQJXFDSNDQ�WHULPD�NDVLK�VHEHVDU�EHVDUQ\D�NHSDGD�

�� $OODK� 6:7� \DQJ� VHODOX� PHPEHULNDQ� ULGKR�� NHODQFDUDQ�� NHPXGDKDDQ��

SHWXQMXN�� NHVDEDUDQ�� VHUWD� UH]HNL� LOPX� NHSDGD� SHQXOLV� VHKLQJJD� GDSDW�

PHQ\HOHVDLNDQ�WXJDV�DNKLU�GDQ�SHQXOLVDQ�EXNX�WXJDV�DNKLU�

�� 1DEL� 0XKDPPDG� 6$:�� WHODK� PHPEHULNDQ� WHODGDQ� GDQ� LQVSLUDVL� XQWXN�

SHQXOLV�GDODP�XVDKD��NHLNKODVDQ�GDQ�GRD�VHODPD�LQL�

�� .HOXDUJD� GDQ� 6DXGDUD� 3HQXOLV�� WHUXWDPD� NHSDGD� NHGXD� RUDQJ� WXD� SHQXOLV�

\DLWX�EDSDN WHUFLQWD $EGXO�5RNLE GDQ LEX WHUVD\DQJ :LZLQ�:L\DQL� 7HULPD�

NDVLK�EDQ\DN�DWDV� VHPXD�ELPELQJDQ��GRD��PRWLYDVL��NDVLK� VD\LQJ��NHVDEDUDQ��

VHUWD�VHPXD�GXNXQJDQ ODKLU�GDQ�EDWLQ�\DQJ�VHODOX�SHQXOLV�EXWXKNDQ��'DQ�MXJD�

WHULPD� NDVLK� EDQ\DN� NHSDGD� VDXGDUD� SHQXOLV� )LWUL� $UGLDQL� GDQ� =XONLIDU

$UGLDQV\DK DWDV� GRD�� PRWLYDVL� GDQ� GXNXQJDQQ\D� \DQJ� VHODOX� SHQXOLV�

EXWXKNDQ�

�� %DSDN�0XKDPPDG�1DVUXQ��6�6L���0�7��GDQ�,EX�5DWQD�$VWXWL�1XJUDKDHQL��

6�7���0�7�� VHODNX� 3HPELPELQJ� �� GDQ� 3HPELPELQJ� �� 3HQXOLV� GDODP� 7XJDV�

$NKLU�� \DQJ� WHODK� PHPEHULNDQ� LOPX�� PDVXNDQ� LQVSLUDVL�� JDJDVDQ��

SHQJDODPDQ�� VROXVL�� DUDKDQ� GDQ� ZDNWX� XQWXN� PHPELPELQJ� 3HQXOLV� GDODP�

SHPEXDWDQ� GDQ� SHQ\HOHVDLDQ� 7XJDV� $NKLU� 6HPRJD� LOPX� \DQJ� EDSDN�LEX�

EHULNDQ�GDSDW�EHUPDQIDDW�

�� %DSDN�5RVZDQ�/DWXFRQVLQD��6�7���0�7��� VHODNX�GRVHQ�ZDOL� SHQXOLV� VHODPD�

NXOLDK���WDKXQ��\DQJ�VHODOX�PHPEDQWX�SHQXOLV�GDODP�VHPXD�SURVHV�DNDGHPLN�

�� %DSDN� 0XKDPPDG� 1DVUXQ�� 6�6L��� 0�7�� VHODNX� .DSURGL� 6�� 6LVWHP�

.RPSXWHU�GDQ���GRVHQ�GRVHQ���SURJUDP���VWXGL���6��6LVWHP���.RPSXWHU�\DQJ�
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WHODK�PHQGLGLN�SHQXOLV�VHODPD�SHUNXOLDKDQ�GDQ�PHPEHULNDQ�EHUEDJDL�ELGDQJ�

LOPX�\DQJ�EDLN�GDQ�EHUNXDOLWDV�EDJL�3HQXOLV�

�� 'HZL� 5HWQRZDWL \DQJ� VHODOX� PHQHPDQL�� PHQ\HPDQJDWL� VHODPD� 3HQXOLV�

EHUNXOLDK�GL�7HONRP�8QLYHUVLW\��GDQ� \DQJ�VHODOX�PHPEDQWX��PHPEHUL� VDUDQ��

PHQ\HPDQJDWL�VHODPD�SHQJHUMDDQ�7XJDV�$NKLU�LQL�

�� .3.X\�0HPEHU��\DLWX 'HRYDQL�$QXJUDK�$OKDILG� )UDQVFRULDQ�:LELVRQR��

0XKDPPDG�.HQ��GDQ�5H]D�$GULDQV\DK�5XVPDQWR��VHODNX�VDKDEDW�3HQXOLV�

GL� NDPSXV� \DQJ� VHODOX� PHQ\HPDQJDWL� GDQ� PHPEDQWX� VHODPD� GL� NDPSXV��

7HULPD� NDVLK� EDQ\DN� GHQJDQ� VHJDOD� SHUMXDQJDQ�� NHOXK� NHVDK�� SHQJDODPDQ��

VROXVL�� LOPX�� FHULWD� VHODPD� LQL�� 6HPRJD� WDOL� VLODWXUDKPL� DNDQ� WHUXV� EHUODQMXW�

VHH�\RX�RQ�WRS�JX\V�

�� 'HRYDQL� $QXJUDK� $OKDILG�� VHODNX� WHPDQ� GDQ� SDUWQHU� 7XJDV� $NKLU�� \DQJ�

WHODK� EHUVHGLD� PHQHPDQL� GDQ� EHUMXDQJ� EHUVDPD� GDODP� SHQJHUMDDQ� 7XJDV�

$NKLU� 7RQJ�SRKR�KLUXS�QJHXQDK�

�� 7HPDQ� WHPDQ� 6.�������� \DQJ� VXGDK� PHQHPDQL� SHQXOLV� VHODPD� �� WDKXQ�

EHUNXOLDK�GL�7HONRP�8QLYHUVLW\�

�� 7HPDQ�WHPDQ�$QJNDWDQ�6.�������\DQJ�VXGDK�PHQHPDQL�SHQXOLV�VHODPD���

WDKXQ�EHUNXOLDK�GL�7HONRP�8QLYHUVLW\�

��� 5HNDQ�UHNDQ� /DERUDWRULXP� L�60,/(��� \DQJ� VHULQJ� PHPEHUL� VHPDQJDW�

GDQ�VXGDK�PDX�PHQJHUWL�SHQXOLV�GDODP�SHQ\HOHVDLDQ�7XJDV�$NKLU�LQL� 6HQDQJ�

ELVD PHQJHQDO�NDOLDQ�

��� ,17)� WHULPD� NDVLK� XQWXN� NDOLDQ� 'LWR�� *HQWXU�� 6DOPD�� ,VPD�� \DQJ� WHODK�

PHQMDGL� VDKDEDW� GDQ� PHPEHULNDQ� SHQXOLV� EDQ\DN� PRWLYDVL�� SHODMDUDQ��

NHQDQJDQ�VHODPD�SHQXOLV NXOLDK�GL�7HONRP�8QLYHUVLW\�GDQ PHQJDEGL�GL�8.0�

0HUSDWL� 3XWLK�� 6HPRJD� WDOL� SHUVDXGDUDDQ� NLWD� DNDQ� EHUODQMXW� KLQJJD� PDXW�

PHPLVDKNDQ�

��� .HOXDUJD� %HVDU� 0HUSDWL� 3XWLK� .RODW� 7HONRP� 8QLYHUVLW\�� \DQJ� VXGDK�

PHPEHULNDQ�EDQ\DN�VHNDOL�SHQJDODPDQ� WDN� WHUQLODL� \DQJ� WLGDN�GLGDSDWNDQ�GL�

EDQJNX�NXOLDK��6HPRJD�WDOL�SHUVDXGDUDDQ�NLWD�DNDQ�WHUXV�WHUMDJD�DDPLLQ�


